4. ADEF and ARST are isosceles, with legs D R ‘ Wite proofs in two-column form.
8 cm long. Name all pairs of angles that are ; o
congruent. 8 cm 8cm 8cm 8 cm 6. Given: LR = L8y LTOV = LTVY
prove: RU =SV
E F S T 7. Given: TU=TV; UVIIRS

prove: /L R= /.8

| 5.1f 1= /2 then 1 =2 8. Given: XY =XZ: 0Y = OZ
6. IEmi3=mi4 then L _=_2 . ~ prove: m/Z1 =mi4
7.1f /5= /6, then 2 =_1 . 9. Given: XY = XZ;
8. True or false? MK = NK if and only if %1@. bisects ZXYZ;
ms3 =mi4. i 5 70 bisects £ XZY.
| X ¥ .; Prove: YO = Z0
9., Prove Theorem 3-1. IR = TS
_ i 7 - 10. Given: PQ = PR; TR = 1
: 2 : / - — . . P
_ “o _uux_u_ :._._ how Corollary 1 follows from Theorem 3-1. ~ Which one(s) of the following must be true?
7 1. Explain how Corollary 2 follows from Corollary 1. (1) LT=LP (2) ST = QP 3) sTll op
e " "y . T I . P Eae
12. What is :,_.n converse o.m Corollary 17 Is this converse true? i 1l Given: /S= ~ T, STl QP 0 R S
13. Use the diagram for Theorem 3-1 to explain why Corollary 3 1s true. w Which one(s) of the following must be true?
| , () LP=,Q () PR=0R y
. = 5 is the midpoi fPT.
| Written Exercises § R i e wiUpoIy GO
_, Find the value of x. “ Write proofs in two-column form.
A 1 w 12. Given: AB =~ AC; AX and AY trisect / BAC. mf! . R .MW .
(This means~( 1= £2= Z3) s 67 ,
Prove: AX =AY TR \
B 13 Given: /4= /T; L1= /3 .
Prove: AABC is isosceles.
b
_ o 4. Given: /1= /2; £3= /4
| 5. Supply the missing statements and reasons. % Prove: /5= /6
Given: KA = KB; ] i i
ke 15. Given: PO = Q0; RO = SO
PO Il AB p > ; .
Prove: KPP == X0 _ > 2 a. If you are also given that m/ 1 = 40, find the meas-
ove: = KQ 4 N . £ ures of /2. /7. /5, and /6. Then decide whether
Proof: PQ must be parallel to SR. o
Statements Reasons R b. If m/ 1 = x, find the measures of /2, /7. /5 and £6. 1s PQ | SR?
” . KA = KR 1. 7 16. Draw an isosceles AABC whose vertex angle. / A, has measure 80.
2. AA= B 2 2 .m a. Draw hdw the bisector of an exterior angle at 4. Is AX || BC? Explain.
3. POl AB 37 b. Would your answer change if the measure of /A changed?
4. /KPO=_' ; /B=_1 4 _1
| 9 . .. 7. a. If m/ 1 =20, then mZ3 = 7 . ml4=_1,
5. 5. Transitive Prop. (Steps 2 and 4) e o 25 e 1
6. KP= KQ 6. 7 . b. If m/ 1 = x, then mZ3=_"_, mid= o
_ - = and m/5 = _?
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